
SAP ABAP table TVAUK {Cost Center Determination}

TVAUK

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

AUGRU  [CHAR (3)]

DATAB [DATS (8)]

GSBER [CHAR (4)]

GSKST [CHAR (4)]

T000

MANDT [CLNT (3)]
 TVAUK-MANDT = T000-MANDT 

0..N

1

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 TVAUK-GSBER = TGSB-GSBER 
0..N

{0,1}
 TVAUK-GSKST = TGSB-GSBER 0..N

{0,1}

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 TVAUK-SPART = TSPA-SPART 
0..N1

TVAU

MANDT [CLNT (3)]

AUGRU [CHAR (3)]

 TVAUK-AUGRU = TVAU-AUGRU 

0..N

1

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 TVAUK-VKORG = TVKO-VKORG 

0..N

1

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 TVAUK-VTWEG = TVTW-VTWEG 

0..N

1


